AB=CD
1. The length of AB=CD is almost the same (tolerance .15)
2. The time span for AB=CD is almost the same (can also use fib ratios).

3. A is the highest/lowest point.

4. Legs should be distinct and symmetrical.

5. C should be .618 - .718 of AB.

6. D should be 1.27 – 1.618 of AB.

7. If BC retraces to .618.  D should be 1.618 (Candles can confirm).

8. If BC retraces to .786.  D should be 1.27 (Candles can confirm).
9. In a good market target should be 1.618.
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The Gartley Pattern

1. XA leg must be the largest price move.

2. D is equal to .786 of XA (some use .618 or .786).

3. D should not exceed X.

4. AB should equal the retracement of .618 of the XA leg.

5. A should be below/above C.

6. D must complete below/above point B.

7. The pattern should posses a clear AB=CD pattern.

8. Stop loss should be above/below X.

9. Best when formed after a strong price move.

10. The XA is the counter trend to the move.
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The Butterfly Pattern
1. Usually occurs near price extremes.

2. Completion of AB=CD is usually extreme (1.27 or 1.618).

3. AB=<CD.

4. Wait for candle setup before entering.

5. Point A is the highest/lowest point in the pattern.

6. Point C can not exceed point A.

7. In a bullish pattern point D is the lowest.  In a Bearish pattern point D is the highest.

8. Proper SL is crucial.
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The Bat Pattern

1. B must be less than .618 (preferably .50 or.382).

2. D should be .886XA

3. BC projection for D should be at least 1.618 to validate.

4. Use candle setup to confirm.
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The Crab Pattern
1. D is equal to 1.618XA.
2. D is an extreme projection of BC (typically 2.24, 2.618, 3.14, 3.618).

3. Usually requires a very small stop loss.
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